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7 100kN/M%EH#EZ 5 — -~ = —|3mZ#BZBH| — ~ — — — | 100kN/mM%EH#EZ % — -~ — —|3mZEEBZS -~ — — —
Zh Lt 1.00) 000 ~ 471 58.70 | TS | 000 ~ 471| 1.82 9.72 Zh Lt 1.001]5.00 ~ 5.00 58.70 | TS | 5.00 ~ 5.00 | 1.82 9.72
2 100kN/M%EH#EZ 5 — -~ = —|3mZ#BZBH| — ~ — — — | 100kN/mM%EH#EZ % — -~ — — |3mZEEBZS -~ — — —
Zh Lt 100|000 ~ 627 78.78 | TS | 000 ~ 627|173 9.26 Zh Lt 1001 5.00 ~ 7.30 78.78 | EhLS | 5.00 ~ 7.30 | 1.73 9.26
3 100kN/mM%EH#EZ 5 — -~ = —|3mZ#BZBH| — ~ — — — | 100kN/mM%EH#EZ % — -~ — — |3mZEEBZS -~ — — —
Zh Lt 1.00 | 000 ~ 458 57.06 | TS | 000 ~ 458 1.95 10.41 Zh Lt 1001 5.00 ~ 520 57.06 | TS | 5.00 ~ 520|195 10.41
4 100kN/M%EH#EZ 5 — -~ = —|3mZ#BZBH| — ~ - — — | 100kN/mM%EH#EZ % — -~ — — |3mZEEBZS -~ — — —
Zh Lt 1.00 000 ~ 482 60.04 | ThLS | 000 ~ 482|207 11.10 ZH Lt 100 5.00 ~ 625 60.04 | This | 5,00 ~ 6.25]2.07 11.10
5 100kN/M%EH#EZ 5 — -~ = —|3mZ#BZBH| — ~ — — — | 100kN/mM%EH#EZ % — -~ — — |3mZEEBZS -~ — — —
Zh Lt 1.00 | 000 ~ 493 61.42 | ThLS | 000 ~ 493 2.06 11.01 Zh Lt 100 5.00 ~ 6.31 61.42 | ThS | 5.00 ~ 6.31 | 2.06 11.01
6 100kN/M%EH#EZ 5 — -~ = —|3mZ#BZBH| — ~ — — — | 100kN/mM%EH#EZ % — -~ — — |3mZEEBZS -~ — — —
Zh Lt 1.00 000 ~ 500 62.34 | ThLS | 000 ~ 500 1.96 10.49 Zh Lt 100 5.00 ~ 588 62.34 | ThS | 5,00 ~ 588 | 1.96 10.49
7 100kN/M%EH#EZ 5 — -~ = —|3mZ#BZBH| — ~ — — — | 100kN/mM%EH#EZ % — -~ — —|3mZEEBZS -~ — — —
Zh Lt 1.00 ) 000 ~ 476 59.32 | TN | 000 ~ 476|177 9.47 ZH Lt 1001 5.00 ~ 5.00 59.32 | TS | 5,00 ~ 5.00|1.77 9.47
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Zh s ~ Zh Ll ~ Zh s ~ Zh Ll ~
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Zh s ~ Zh Ll ~ Zh s ~ ZhLlst ~
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Zh s ~ Zh Ll ~ Zh s ~ ZhLlst ~
100kN/M%EH#EZ 5 ~ 3mZEHBAD ~ 100kN/M%EH#EZ 5 ~ 3mZHBAD ~
Zh s ~ Zh Ll ~ Zh s ~ ZhLlst ~
100kN/M%EH#EZ 5 ~ 3mZEHBAD ~ 100kN/M%EH#EZ 5 ~ 3mZHBAD ~
Zh s ~ Zh Ll ~ Zh s ~ ZhLlst ~
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Zh s ~ Zh Ll ~ Zh s ~ ZhLlst ~
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100kN/M%EH#EZ 5 ~ 3mEHBAD ~ 100kN/mM%EH#EZ 5 ~ 3mEHBAD ~
Zh st ~ ZhList ~ Zh st ~ ZhList ~
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